He 3:H

CHE olSoI7l ZI2IE 7t22] 7] 2lal| dH|=l=5
2to| = AEC| 2 22| § A2z
273| 212|1E ot= Ao oIF

g8 Y8 24,46, E= 2:15, A 3:9, 5:16, © 119, E= 3:16-17, 2:2

. 2E U= 0|2 0iY L QoM AIZHE Bz 25| RI2|& oH= Hlof 0| T}
CiM 2:4, 8 17:11.
A. 2EYC| RO 3|82 ULkl LTt RI2|el 2T 3|=0|Ct - YF 3:16
B. CI2HIMAM 2% 4Z0|M HIZ2 LSIRACE StHEES “2E AMZO0| 7g grer
2243] Ot=0]| 0|27|& HstLCt”

2. DE QI 0]SS DIY T OlOA AIZHS BUYOZ 2I2|S 25| OF=D] 0|2 4 it
o20| QIC BILIKO RE AHASS OfY T olojA AIZHS BUYOZ 22|E A
Of= 20| 7H53iCt
C. 25y 7|=m Ao o2 AIMES 723]= AlBtmS0| 9Tt 0 AISnES 42 27|
Cj2 wAloz oipstis 20N Loiton, tiEEo] 2ol S| mal 4HS shists
stLiglel HstAl 2at 220| Y}
D. /% W3] oto| P2|= HHOI TS M= wAlOZ HHS OfaE LRI} YL}
1. Cl2H HEMOIA HI2S mBl= AT J1220| WRSICHE %2 PRSI 127
sto] RE @i 0[S0| Z12|E 23| Ok ZIA0] 0| 4 QUCkD 0|0 |3Ct - Y
1:10, 2:4,4:3, 6, 16, 5:17, 6:3, © = 2:15, 25, 3:7, 4:3
2. 92l siLidel HotAl 20| w2tk 4B sl SiCh, 1% 0 HESo| A2
Jl2ae W 262 YHoR a2 UE2 £22 £ 4 Y ZHog)
I. 2l 2tolm AEtC|e} 5|29 Ao Y 7 51

A AW A2 dE2l 2I2|E Olofiste Had S =307 AMAlsts XAO|H.
1. B2 U8 71519 48 dide SA=ss &R A=A = ZEL} ALFSHE Ofslst|
o2 Y22 2| E A Alst7| 20Tt
2. 2fO|Z AL BAIREY 2|59 4F52, HHZE, SAES Hed BS5S Sof 28
=8 =222 ZE& U= 0|50 LES olags U

TQIELIA 2] 2, 1984\, 1, ST, 72| Qo)A ZEET Y QloM M, 4%, 61-66%.
29U~ 2] 77, 19841, 17, GRT, 22| S0 225D Y loM N, 4%, 63%.



d89 A9 2

1.

Ade B2 AE 22U 12220

=

121 2I3iA, O]

olis

otCt.

S|

A= A Al

Zo|ct- 2 2 10:10, 2 8:11, Y& 4:6.

’

lE A2 20|Z A BAIZE S dAI0f

—r
Ife)

EtC| oiA| RS2

Ea

to| =

2|7} 0| o

an
o

= 22{sict. 1%

{80 St AlZtS 27|

A
o

=Ko
=/ T

ol

Lo

U AAE, 29| o7 2o MM 5

of o7 /ol A

=
=

JELA 2 g, 19844, 1

o
1

Z0|Ct -

kC} 3

0f7}of &t

=
=2

20| AEtE| AR E S3ll 482 2E 22| ez

2l=

o
T

ol 22 M T2 2= 2HollA

9|

7|93E} A o2

S i=le]|
=22 de

O

M
o
O|AE2 MM =9

|=0IH =4 #lS¢et FHOIC

9

B.

—r
110

O 2 HA|

o|S0|7| 0] 22|12 &
o4

tof 20| AEC| HA|X|2F 120] 2t

5}

-
A

X
=.

S 14,359

P QELA 2| Y, 19841, 5, SR, ‘39| 5= U 72| 2 7|

* QEL|A 2| M3, 1984, 1

ol
=.

, 65-66

P
(=]



ol

= Ct

zHOl
=]

ojo
0|0

=0 ARRI0A Al

220

D.

oju
E

K

o)

A 8ot

=

50071

ujn

ol¢el AlRES

&MY 9 Zolct,

22 YE=

2H
AH

ot
Hp2tC}”

o AE0| B3

=07l Stitd

CtE o]

I

9| F&2| AM22 zfj¢fxn

to1, stLtd

Ic}h 2|5

2ay3H

| “M7| 2 o] &|7]

5|
[
o

12| otoM H2E|D MY

L §
—

{2 2] ME, 19844, 134, ST,

/EL

(o)
by

(H|x OF 13:52, © 1:9) -



